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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 
June, 2018 

- 	 LIFE SCIENCE 

LSE-09 : ANIMAL DIVERSITY-I 
Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any four 
questions from questions no. 2 to 7. Marks for each 
question are indicated against it. 

1. (a) Differentiate between any three of the 
following : 	 3x2=6 
(i) Protostomia and Deuterostomia 
(ii) Polyp and Medusa 

Protonephridia and Metanephridia 
(iv) Ascon and Sycon types of canal systems 

(b) Match the following : 	 5 
Column A 	• Column B 

I. Spotted bollworm A. Physalia 

IL Silkworm 	B. Daphnia 

III. Crab 
	

C. Carcinus 

IV. Portuguese man D. Bombyx Mori 

of war 
V. Water fleas 	E. Earias vittella 
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(c) Fill in the blanks : 	 4 

(i) The mode of nutrition in chlorophyll 

bearing flagellated protozoans is 

(ii) The organisms whose cells possess an 

organised nucleus are called 	 

The second pair of appendages of 

arachnids is called 	 

(iv) Elephantiasis is caused by 	 

2. (a) Differentiate between the various life 

stages of Anopheline and Culicine 

mosquitoes. 

(b) How do honeybees communicate with other 
members of their species ? Explain with the 
help of diagrams. 

3. (a) Write any five differences between Phylum 

Porifera and Eumetazoa. 

(b) Name the various larval forms of Phylum 

Mollusca and draw their diagrams. 

(c) What is torsion ? Explain with suitable 

diagrams. Name any, one animal in which 

torsion takes place. 
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4. (a) Define metamerism. What is its 
significance ? 	 3 

(b) How is the segmentation in tapeworms 
different from the truly metamerically 
segmented animals ? 
	

5 

(c) What are ppeudqpbdis, ,? _Describe- the 
different kinds of pseudopodia found in 
protozoans with suitable examples. 	7 

5. (a) With the help of a neatly labelled diagram, 
explain the water vascular system in 
starfish. How does it help in locomotion ? 8+3=11 

(b) Name the disease caused in humans by 
blood flukes. Give the scientific names of 
three important disease-causing species of 
blood flukes. 4 

6. (a) Why are viruses considered as a borderline 
case between living organisms and 
non-living things ? Explain. 5 

(b) Name any two diseases caused by viruses. 	2 

(c) Explain the sexual phase of the life cycle of 
malarial parasite with the help of a suitable 
diagram. 	 8 
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7. Write short notes on any three of the 
following : 	 3x5=15 

(a) Pearl Formation 

(b) Mouth parts of Cockroach 

(c) Coral Reef 

(d) Digestive System of Leech 
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1. () 14.ARsi 	.4 ik-41 	 atift 
TErvz 	: 	 3x2=6 
(i)atai4e41 	rT SziPt-.)itil 
(ii)tfleg MIT Av 
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(1T) f> 	cm 1:9z-41*tte trl*: 	 4 
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7 
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fdRIR : 	 3x5=15 
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